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170: Theory of Everything

Neehar Sanadhaya

Abstract—In the present scenario of universe, every scientists and human is trying to find the answer of the existence of universe and itself.

Till date none of the theories were able to explain the universe and its dimensions exactly. There is also contradiction among existence of

religion, science, history, role of human or behavior of universe and human brain. My theory with mathematical proofs and equations is a

step to provide and conclude the knowledge that solves all these contradictions. Below is provided the exact detailed explanation of the

beginning or evolution of the universe till it ends. Theory will also throw light on some of basic questions as stated below.

Initial stage of Universe formation and its End.

What is the initial stage conditions, and How did it Happened, its complete evolution as resultant Universe.

Explanation of Dimensions.

Explanation of Shape and Size of Universe.

Explanation of TIME -SPEED- SPACE.

Formation of Mass and its Dimensions (Different Stages).

Types of Resultant Mass, Matter Non- matter, Particle or anti-particle.
Mathematical Co-relation among Digital and Real universe.

Explanation of worm-holes or time holes and existence Parallel worlds or multi universe.

Also, exact relation of space and time will be explained with calculated mathematical results as the proof of the exactness of the theory/knowledge.

With the help of equations and explanation, I have written the theory in general words with less scientific or technical words for the best
understanding of every question that could ever be asked by intelligence itself. Therefore I would request to understand the concept of the theory rather
than looking for technical words. My aim is to provide the exact and correct knowledge to humans about universe so that they can choose the right path

to be followed. The experiments and the results at various labs, especially CERN, will prove the theory correct and exact.

Index Terms— Dimensions, Law, Number Dimension, Quantum Universe, PI (), Stability, Singularity,

1 INTRODUCTION

The 170 Theory (Universe at every point):-The beginning of
the universe can only be either from something or from
nothing itself. Now, that something is stated as
mathematical 1 (as representation of energy) from which
the universe evolved. Remember the Newton’s law that
energy can neither be created nor be destroyed, but can
only be transformed from one form to another. Even if it
was nothing before the beginning of universe, for the
existence of “the state of the nothing” it should be stable. Or
the stability definitely exists. Therefore, the state of nothing
is mathematically represented as 0 and the stability within
state of zero is 1. As such, universe is created from ‘1’, is the
only condition, and ends all other contradictions of
evolution.

Now, the universe will come into existence only and only if
there is some change in either of the ‘states of nothing’ or
the ‘state of something’. Therefore, for the creation of
universe, there is an “idea of disturbance” in the state of
nothing or 1 itself. This disturbance is the cause of the
formation of the universe.
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The condition of the existence of one and zero will be in the
form of something as 1, or stability in state of nothing, that
is 1 inside 0. As such, the disturbance will always take place
at 1 within itself or within the stability of state of nothing or
at some of its point. This point of disturbance is the actual
place of the point and place of formation of universe.

Here we have to remember the definition of point. The
point is the place of the point, where the point is placed.
And, the place of the point place is the place, where the
point is placed. (Here one has to understand that point is
not a just mathematical term, but a physical term
representing the place or space.)

The idea of disturbance therefore creates the universe at the
place of the point.

The
N
Nothing 0 Stability State
orl 0
of /
0

Now, we have our first creation i.e. POINT-
Universe. We know that, Energy can neither be created nor
be destroyed, and it could only be transformed from one
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state to another. This Disturbance will cause the Energy
transformation within the “State of Nothing” to form state
of something or universe itself. Therefore the Disturbance
in Stability causes Energy form the “State of Nothing” to
Disintegrate (transformation) at that POINT, where the
Disturbance happened. This Energy will (transformed)
disintegrate at THE POINT; because there is nowhere or
nothing except POINT of Disturbance (Energy can be
transformed only by disintegrating, as there is nothing
which could add-up to “State of Nothing” for Energy
transformation). This (energy transformation) is obviously,
should be in direction, opposite to the direction of Stability,
or in the direction of Disturbance. Now disturbance in
direction opposite to Stability could create “State of
Something” (which is Energy disintegration at POINT).
Below figure shows only the direction of the flow of action.
While, the actual position of force and energy are vice-
versa.

State  of Nothing 0

Energy  Direction  of

Disturbance

STABILITY
1

point of Disturbance

Orelative to 1

Also, for every action, there is an equal and
opposite reaction, Stability in “State of Nothing” will
oppose energy transformation (disintegration of Energy), in
terms of “FORCE” towards Stability, whose direction is in
direction opposite to point of energy disintegration.

The diagram below: represents view from two
sides of Point. At one side, at the Side of stability, FORCE is
in direction of Stability. At the other side, or the side of
Disturbance, Energy disintegrates (within universe). Time
represented as red circle, and Energy disintegration (light
transformation corresponding to energy governed by total
internal reflection; initially corresponding to stability as 1)
takes place within boundary of time in yellow colour.

View from Stability View from
Side Disturbance Side

Force Qutward,in
direction of Stability

POINT
Energy outward in
direction of
disturbance

As energy disintegrates, new surface area in term
of Time —Space is produced at every point of energy. Forces
will push energy in opposite direction to every point of
Energy space to shrink within itself or to drive Energy
towards stability from where it escaped or transformed.

For better understanding of the theory, let us first
understand and state some of the important terms.

Energy as Stability:

IT is the condition of equilibrium. In other words, stability
is the condition where everything has same value. To be
same its every value is equal to each other. It is singularity,
mathematically itis “1 “. Or condition where value of
everything is “1” and nothing else. Here everything is at
absolute rest or stable. Also we can say that singularity is a
place where change in speed relative to speed of light is
zero. Speed of light is the escape velocity of Universe and
its dimensions. Stability is a place above the point where
everything is in equilibrium or at rest.

Energy transformation as Instability: A state that is not in
equilibrium, or in which a small change has large
irreversible effect. It is the condition after the first & only
disturbance or Idea. It is the situation where everything has
no value or the place of nothing or the place of disturbance.
Mathematically its value is zero “0”. And for general
understanding it is ‘Dark energy/ black hole” and its
practical resultant is Universe.

Stability and Instability are the only two phenomenal;
between which everything is circulating (helical path), and

its every possible value is stored at point (every space
under consideration), and that is termed or known as 7. In
other words, this Universe, every matter, non-matter,
Humans living their daily life, every drop of universe,
everything has its’ shape, size mass as a resultant of finding
stability towards equilibrium, or its movement towards
stability.

I1 (PI):- P1 is the Ratio of circumference of the circle. It
exists at the point space of disturbance as a parallel plane
differentiating the stability and instability. In other words it
a parallel plane of the point of disturbance, differentiating
stability on one side and instability or universe on the other
side.

I1 Definition: -The value of PI is every value from zero to Pj,
therefore the value of Pi is the ‘IT itself. So, to know about
every value of Pi, we have to divide Pi within the limit up
till zero.

Here we have to understand initial conditions of existence.
Before the existence of the universe, there should be
nothing. Or let there was nothing before the existence of the
universe. This “nothing” is a proof of existence of itself or
something or everything as “nothing”. Then, there is (any
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idea of) disturbance in stability of nothing and everything
(Universe) is created. IT is the parallel plane separating the
two conditions of stability and universe below disturbance.

Also m is used as the only limit in the theory because it is
finite limit, moreover infinite as limit will just complex the
calculations infinitely.

2. UNIVERSE FORMATION: -

Now, let us understand the concept of formation of
universe and space time relation. Universe will be formed
due to the property of the resultant COMPONENTS of
energy and force. Here Speed is introduced as component
of the energy while time is the component of Force. In
terms of mathematics, universe will form at the intersection
of speed and time component at @ plane. Their exact
relation can be understood from the figure shown below
(Figure 2.1).

Here time is just the reflection of the speed. The value of
Universe is determined by the value of light which is
reflection of speed. As such, the complete universe could
easily be evaluated as light ranging from 0 to 2 ; where
energy or speed component range from 0 to 7 and force or
time component range from 7t to 2 7t forming resultant
universe at 7 plane or © points.

Figure 2.1

Image 2.1 shows the how energy disintegrates after
disturbance. This disintegration takes the Shape of
pyramid. Direction of Speed is upward while direction of
its reflection as Time is downward within itself. Thereby
forms the shape of universe. As such the movement of
universe is downward within itself.

Also, tan 0 = 0 of plane of = Sin 6/Cos 0 =
perpendicular/hypo = \2a = 1.41421356

=> Therefore, 0= tan”(-1) (0.414213) =22.5 degree. That is
tan inverse 0.414213 = 22.5 degree.

This represents, Place of point space (any space under
consideration) of the resultants of events of universe;
And because 180/22.5 =8

Therefore, there are total of 8 such events between 1 to @
(180) degree.

Therefore, creation of universe is in form of parallel
triangle, total of 8 such triangles as Dimensions of Universe
The fig shows two parallel planes of 1 and zero, and there
are four quarters of speed and four quarters of Time, total
of which make eight quarters. These eight quarters will
represent the events /bits of Universe.

1st Law: - Law of parallel Triangle:-

Universe exceeds in form of plane of parallel triangle @ PI
displacement. Here, every triangular plane is parallel to
each-other, but never equals to the value of itself.

“THE PLANE OF PIIS THE PLACE OF THE POINT”

2nd [ aw:-

Plane of Pi intersects to form the dimensions of Universe@
45 degree, making four speed dimensions at 1‘s side/
singularity’s / Energy’s side from 1 to 7t; and four reflecting
dimensions from zero to — Pi (7 to 27) on Force’s side/
Time’s Side /Zero’s side.

Time basically, is the interval between two end points of
light/ singularity or interval between 1 and 0 (as dot at the
end point).

Figure 2.2
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As a resultant from figure:

= At point of Disturbance

As1/T=C--eq.no1

1/T+C=Aeq.No 2

Adding eq. 1 and eq. 2
2 2C=A=2> C=A/2.

WhenS=C;T=121+C=A.2C=A-1

After disturbance;

At energy’s side C=V2S and also universe side or 0’s side
>1/C=\2T

Also, = from eq. 2, and C max =1

(T+1) / T=Aeq.No. 3

We also know that A/2 =m;

2 (T+1)/T=2mn

Putting value 1/C =V2T > T=1A2C

(1A2C+1) / AN2C) =21
C=02n-1)/\2

And, if C =299792458 m/s then,
299792458 = (2t -1) /N2

> 7 =211985280.50038 m/s

And, if we calculate C/ = we get answer = V2.

That proves that “n” is the first resultant number-
dimension for the formation of the universe.

3. DIMENSIONS AS NUMBER DIMENSIONS AND THEIR
SHAPES: -

The shape of the universe is shown in three different forms
on graph paper. Where singularity or Unity =1 = 8cm. The
resultant next dimensions are the multiple of 1A2.

The first graph (Fig 3.1 ) shows the curved nature of
universe. The graph is helpful to understand Length
contraction and Time-Dilation (at mirror image).
Figure 3.1
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Image 3.1 shows the continuous shape or curved shape of
universe as shape of 7 at four resultant Speed or Time
coordinates. If we consider the movement of 7 form 1
towards 0 (point), the shape also represents Length
contraction (coordinate in upper half) and Time dilation
(image of coordinate in lower half).

3.1 DIMENSIONS

Initially, only ‘Singularity” exists, & nothing else exists, and
that is non dimensional.

Then the first dimension is the dimension of “light”, the
dimension ‘intelligence’. Nothing else exists except
singularity/ stability as 1stdimension of light or intelligence.
And the shape now can be represented as straight line. Its
position is at unity or 180 degree from point of disturbance.

"

Then, there is second dimension, the dimension of “7t” or
‘Will". Now, there exists singularity, 1s dimension. It is the
first number dimension. The shape is now parallel. And its
resultant position can only be at 90 degrees from point of
disturbance.

Then, there is third resultant dimension. It is the dimension
of ‘Self-Conceit’. Now, there exists, singularity, 1=
dimension, 2" dimension and 3+ dimension. And nothing
else exists. The third is the orthogonal shape or shape as
triangular pyramid. It is at 45 degrees.

As such, the fourth dimension is the result dimension of
universe and exists on four resultant points of 7. The shape
now changes to Pyramid of four sides. These are the
resultant sides of universe as resultant speed at 45 degrees
from 0 to 7t or resultant time at 45 degrees from 7t to 27t.
Shape here will be a triangular shape combined to form
shape as four dimensional pyramids. Its position is at 45
degrees. It is at 22.5 degrees from point of disturbance. As
such exists on eight points at the rate of 22.5 degrees.
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As such there is universe in 4t dimension, which is in zero
mathematically or (inside a black hole). Therefore,
mathematically it is evident that universe is just the
reflection of light of intelligence above it.

The 4™ dimension or universe can only be the resultant of
three dimensions above. We know that mathematically,
diagonal is the resultant and is V2a of side ‘a’ of quantum
square or quantum cube. Therefore, universe is multiple of
V2 as the resultant or diagonal of the cube of three
dimensions present above it.

The number dimensions from 4t to 8t dimension exists as
resultant number multiple dimensions. IT is the ratio of
circumference of circle, or simply, it is curved. As the
dimensions are just the resultant dimensions m itself,
therefore they are curved. Therefore, the resultants of each
higher dimension try to exist at same space by trying to
overlap each other thus, exists in transformed atomic form.
Or to state simple, atoms are formed the resultants of
higher dimensions. Further there is nuclear dimension.
Their resultant percentage and energy equivalence can now
easily be calculated from the figure. These dimensions can
easily be understood to form four fundamental forces.

From the graph, it is also evident that for any
universe or point or dimension under consideration, only
odd numbering dimensions will be visible in form of the
mass. The even numbered dimensions will only correspond
to wavelength. This is due to the angular position of the
dimensions with respect to each other. Also the ‘Event
horizon’ will correspond to Maximum wavelength (A max)
for any dimension or universe. This wavelength is the
corresponding wavelength of part of speed of light. This
can be better understood with help of Mathematical
calculation of Dimensions calculated below.

The graph (fig 3.2) represents the Quantum-Curved Shape
of Universe.

As such there is the Law of parallel triangle,

which states that,-“Plane of universe is triangular plane,
and the resultant is universe as the resultant of parallel

703

triangle.” And is the multiple of v2a, where ‘a’ is side of
triangle or side of cubic volume of universe.

3.2 CALCULATION OF DIMENSIONS: -

Dimension 1st:-

From equation:- C = (A-1)A2
>A max. = (299792458*\2) + 1

—423970561.00077 metre (Event Horizon for our
universe)

2>A min. =1/ A max.

A min. = 2.3586543311864 x 10"-9
That shows that our 1st Dimension will be visible from 10°8
metre to 10"-9 meter.

Next Dimension will have seven number dimensions. Then,
its length is the resultant length as multiple of (1/N2)"7.

Dimension 2nd:-

Therefore: A min. = 2.38653311864x10"-9 / (V2)"7 =
2.0847755900712x10"-10 metre ~visible as X-rays.

Then, length of this Dimension = A/(N2)"7 = 2.08477....x10"-
10 / (N2)°7

-1.842698962394 x10"-11
metre

That is corresponding to length of X-Rays.
Dimension 3+¢;-

Above A =1.842..x10"-11 of Dimension second will be
maximum wavelength for 3rd dimension.

>Therefore A max / (V2)7 = 1.842...x10"-11 / (\2)*7 =
1.6287309294731 x107-12 metre.

That will be corresponding visible Mass Dimension and
visible as Mass of electron.

Dimension 4th:-

Above A ==1.6287309294731 x10"-12 of Dimension second
will be maximum wavelength for 4rd dimension.

->Therefore A max / (\/2)"7 =1.6287309294731 x10"-12 /
(2)r7

> =1.439608356437x10"(-13) metre
This is corresponding visible as Gama-Rays.
Then, length of 4th Dimension=A / (2)~7

>1.439608356437x10"(-13) /(N2)"7
->=1.2724460388618 x10"-14
metre.
That Corresponds to length of Dimension of Gama-Rays.
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Dimension 5th:-

Above A =1.2724460388618 x10"-14 metre of Dimension
second will be maximum wavelength for 5th dimension.

Therefore, A max / (V2)"7 = 1.2724460388618 x10"-14 / (N2)*7

2=1.1246940284664 x10"-15
metre.

This A will correspond to the mass of Proton or
Quantum Dimension.

Similarly values can be calculated for

6th Dimension (will in form of rays) = 9.9409515877568
x107-17 to A/(N2)"7 = 8.766428489375 x107-18 metre.

Then 7th Dimension (will correspond to some mass)

2=7.766368427935 x10"-19 metre.

Finally, then, 8th dimension = A max / (V2)"7

>=7.766368427935 x10"-19 /
(V2)77 = 6.8645647257324 x10"-20 metre.

Length of this dimension = A max / (V2)"7 = 6.0674753343242
x107-21 metre.

Thus values of all dimensions have been calculated.

We know that:-
E =mc”2 and E=hc/A

Here E is energy; M= mass; C= speed of light; A=
wavelength, and h= planks constant.

Then, E=hc/A
- At max. E=1. Then h = Nh (let say neehar’s constant)= A/c

>Nh= 423970561.0007/299792458 =
1.4142135657088 Joule.sec

From E=mc” and E=Nhc/A; Equating both equations:-

“>mass =Nh/cA......eq. No 7

Massm=Nh/cA....... Eg.no 7

Nh= Neehar constant = 1.4142135657088 Joule.Sec

C=speed of light; A= corresponding wavelength of C

704

Let us calculate:-

Mass of our 1st dimension or Universe = Nh / cA

->=1.4142135657088 / (299792458 x
423970561.00077)

->=1.1126500560537 x10”"-17 units
Then, Exact Mass of atomic dimension now on earth:-

From 5th Dimension A = 1.2724460388618 x10"-14
(A Corresponding to proton), then

->A max. =1/Dimensional A =1/ 1.2724460388618 x10"-14 =
7.8588794295316 x10°13 metre.

Then, Mass max. = Nh / cA

->=1.4142135657088 / (299792458 x
7.8588794295316 x10"13)

->=1.4142135657088 / 2.3560327813049
x10722

Therefore Exact Mass of Atom/ Quantum dimension 2=
6.0025207498408 x10"-23 dimensional units. This result
proves the theory. The result is Avogadro’s constant in
time dimension.

Also, we can calculate that:-

Mass of universe / Mass of proton (quantum
dimension) = Total no. Of protons (quantum dimension)

Therefore, number of proton=185363.80004737.
And, total number of dimension 8"8= 16777216

Then subtracting 88 — 185363.80004737 =
16591852.199953

= (7.9888976790434)8

And 1/ 7.988976790434 = 0.12517371484469 Part of
dimensional Universe is still waiting to be formed.

Then Dimensional Universe formed = 1-
Dimensions waiting to be formed.

->=0.87482628515531 Part of dimensional
universe is already formed.

And, 1/0.87482628515531 = 1.1430840807698= Let =

2>Then, x8 =2.9149117610261 Dimensions have
been already formed out of our universe or out of our
universal dimension (C=299792458m/s).
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Then, 8 - 2.9149117610261 = 5.0850882389739th is the
Dimensional position of our Universe with respect to
Unity.

That result shows that we Humans are in
5.0850882389739th Dimension right now [Considering
C=299792458 m/s].

And let us plot this on our Dimensional graph and locate
the position of our present Universe.

When Singularity or Unity = 1 = 8cm, then, 5th D is 2cm.

Then, Position of our universe = (2/5) x 5.0850882389739th =
2.0340352955896 cm.

Also, 2cm =45degree then, our universe = (45/2) x
2.0340352955896

- Answer = 45.765794150765 degree.

3.3 LET US ALSO LOCATE OUR EARTH IN THE
UNIVERSE

Total time of one day = 23hr 56min 4sec = 86164 sec. These
are produces by eight quarter of universe. Therefore, Time
in one quadrant T = 86164/8 =10770.5

We know that, 1/C =\2T, Then C = 12T = 6.5652177817794
x107-5 m/s

Also, C=\2S > Speed = 4.623100134627 x10"-5 m/s with
respect to our universe,

Let it be =x;

Then, Actual Speed of Earth =299792458 / (x) =
6.457829337778 x10°112 m/s.

Further, when C= 299792458, Speed = 6.457...x10"12 m/s,
When C =1, Then, Speed of earth = 21541 m/s.

Then, A = C*2 +1 =6.56..x107-5 *\2 +1 = 1.0000928462003
metre.

Then, Mass = Nh/CA = 4.7168707411006 x10"-9 kg.

Then Total number of dimensional earth mass = Mass of
universe / mass of earth

- 2.358873323789 x10"-9 ; let=y and 1/y = 423931200.5996
Means earth has completed 7 Shift. And then, (1/y)

And, Total number of dimension = 8"8.

Then, Remaining number of dimensional mass =
423931200.5996 — 8”8 = 407153984.5996

That means earth has completed its dimensional cycle.
And, number of times it has completed cycle =

>

423931200.5996/ 88 = 25.26826820944 times. The light had
already shifted 25 times completely [interchanging of
axis,( not north or south poles)]. Or Earth is moving in 26t
T position.

->=407153984.5996 = (11.918451572332)"8

Then, 1/11.9182..=0.083903516654922 part of light has
already transformed for earth’s dimensions.

Then, 1- 1/11.981.. = 0.91609648334508 part of equivalent
energy of light is still to be transformed to earth’s
dimension.

They will transform into eight dimensions.

Therefore, y*8 = 0.49605488182503 number of Dimensions
have been waiting to be formed.

Then, Dimensions already formed = 8D-
0.49605488182503= 7.503945118175 Dimension have
already been intersected or formed.

That shows the current position of the earth.

To locate it on our graph we see that, when universe =1 =
8cm

Then, 7th D=1 cm. Therefore, our position =
(1/7)*7.503945118175 cm

=1.0719921597393 cm.
And, we have 1cm=45 degree; Therefore 45%1.0719 =
48.239647188268 degree.

IJSER © 2014

http://www.ijser.org


http://www.ijser.org/

International Journal of Scientific & Engineering Research, Volume 5, Issue 9, September-2014

ISSN 2229-5518

Now, let us also calculate mass of electron:-

We have electron in our third dimension, and its

corresponding A=1.842..x10"-11, Then A max = 1/ A min
21/1.842698962394 x10"-11 = 5.4268223969737

x10710 metre.

>Mass = Nh/cA = 1.4142135657088 / (299792458 x

5.4268223969737 x10"10)

—>Mass = 8.6925798184527 x10"-20 units.

Also, Then Total number of dimensional electron mass =
Mass of universe / mass of electron.

> We get =127.999998151202 electron dimensions

Then, total number of dimensions — dimensions formed=
Dimensions remaining.

878 -127.999998151202 = 16,777,088.000018 =
(7.9999923705811)"8.

>Then, 1/(7.9999923705811)"8 = Electron dimensions have
been Already formed.

->Then 1 - Dimensions formed = Dimensions Remaining.
Therefore we get = 0.87499988079022 Dimensions are
remaining.

Then, total of 8 Dimensions - 0.87499988079022 =
7.1250001192098 have been already formed.

The Dimensional position of Electron is 7.1250001192099t
Dimension.

=

>

[

91 |

o
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To plot it on our graph paper, we know that 7 D = 1cm.
Then its, 1 D is 1/ 7cm. Then Above dimension = (1/7)x
7.125000119209

->We get Length of Electron position on graph
1.017857598871 cm.

> Also, 1cm =45 degree then, position of electron dimension
=45.80357219492 degree from 7* Dimension.

[Note: Graph is not added for simplicity. Position can be
viewed approx. 2 degree before position of earth on above

graph]
Comparison of the positions of Electron and earth:-

From our above calculated values of graph, Earth’s D =
1.0719921597393 cm and electron’s D = 1.017857598871 cm.

Then, Difference in Dimensional length = 0.0541345608683
cm

When C = 8cm, then difference = 0.0541345608683,

When C = 8 metre then difference =5.41345608683
metre.

When C =1 metre, then, difference =
5.41345608683/8 metre

When, C =299792458, then Difference =202864163.31823 m.

This difference is in Speed dimension of the
universe, then, in time dimension;

>1/Speed =4.9294068683354 x10”-9 metre.

This shows that the electron is visible at radius of
distance of 4.9294068683354 x10"-9 metre whenever it is
observed from earth. Also, angular position can also be
calculated similarly.

Similarly, all values of universe in any form of year, week
or days, length mass or time, Force or Energy and the
resultant positions of resulting physical universe and all its
dimensions can be calculated exactly. In short every
calculation about universe can be done at every point.

4 CONCLUSION AND RESULTS:

Unity or stability or singularity exists. Light is the
fundamental dimension, and resultant universe or its
dimension are the position of light (and its energy
equivalence) at different angles.

Idea of disturbance caused the formation of Point-space as
the plane of . The plane of 7 is a parallel plane.

Universe is formed as the reflection (Light) of Stability or
unity or 1.

IT is the only and every maths of the universe.

Light forms the 15t Dimension of the Universe. It is also the
dimension of intelligence.

Second dimension, as first number dimension is ‘7t itself. It
is the dimension of “Will'.
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The Universe Exists as seven resultant number dimension
of Light, and thus every entity can be represented as a
number, thus shows that everything is certain.

170 — is the equation which holds everything from 1 till 0
(dot/point/black hole). In between the universe exist in
every form and only form of 7.

The theory easily explains the complete concept of
universe. Whatever Einstein said, theory has given a proof
of that.

The theory is the theory of everything: It represents unified
theory. TO conclude: The shape of everything in this universe is
same and exact. The

Change is, just in ‘Point (place/space)’ of observation, and it is
just relative to

resultant positional distance of observer both in terms of angle
and length of time.

Itis 1, it is the only thing that exists. What do we observe: A
universe or galaxy or an atom, appear different as it is just the
difference in the position of the point-space of the
observation/observer, both in terms of Space angle or length of
time of space.

To summarize everything in five steps, the steps are shown:
1 SINGULARITY/ Stability
0 ZERO
) ( TWO REFLECTED SEMI- CIRCLE
ATRIANGLE
10 DOTS IN TRIANGULAR BOUNDARY

These are symbols given by some great mathematician as
representation of universe. I can just say that this is exactly what
my theory is.

Theory explains everything, each and everything, every co-
relation of universe in terms of speed or time, matter or
antimatter, worm-holes or whatever else, working of our
brain or neurons or storage of knowledge of every point
will be explained to its true value.

The detailed study and explanation of theory and universe
is provided in the book “Who am I: 170 — The theory of
everything”.
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